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TEST CODE

2002 PART-A : MATHEMATICS

1. Avessel has 4 litres & 500 ml of milk. In how many 1. T da H 4 oilex a2l 500 fiell g 8, 39 25 fiyefl emar &

CLASS - VI

ZONE - 11

glasses, each of 25 ml capacity, can it be filled e Rl & ¥_7 I @

(1) 150 (2) 160 (1) 150 (2) 160

(3) 170 (4) 180 (3) 170 (4) 180
What will be the sum of the prime factor of 1729 is 1729 & TS UGS HT ANTHS BT
(1) 39 (2) 32 (1) 39 (2) 32

(3) 34 (4) 38 (3) 34 (4) 38

A number 'a' divisible by 5 and 6. But not be TP AT 'a’ S 5 3R 6 ¥ fawrira g dadt € afes
divisible by 7 9 fawrford =21 g1 |l ?

(1) 60 (2) 30 (1) 60 (2) 30

(3) 15 (4) 10 (3) 15 (4) 10
What is the value of 8 x 1769 x 125 ? 8 x 1769 x 125 &1 A T 81T ?

(1) 1769000 (2) 1768000 (1) 1769000 (2) 1768000
(3) 1768010 (4) 1769010 (3) 1768010 (4) 1769010

Which number is identity element for multiplication
of whole numbers :

(1)1 (2)0

(3) 10 (4) 100

The school canteen charges Rs. 20 for lunch & Rs.
S for milk each day. How much money will be
charged in 5 days on these things ?

(1) Rs. 125 (2) Rs. 25

(3) Rs. 75 (4) Rs. 100

DITH FET YUt HR13T B [OFTHS BT TeAHD 1A B

(1)1 (2) 0

(3) 10 (4) 100

T Tl B b ¥ o d d 20 B A1 g B 5 B0 yfafes
foRI S 2, @1 5 R &1 e @ faae g ?

(1) 125 9
(3) 75 I

(2) 25 ST
(4) 100 T

Space for rough work

1

y.
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10.

11.

12.
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The natural numbers along with zero form the
collection of

(1) Whole numbers
(3) Rational numbers

(2) Integers

(4) Real numbers
State the property used statement

(29 x 36) x 18 =29 x (36 x 18)

(1) Associative property in multiplication
(2) Commutative property in multiplication
(3) Distributive property in multiplication
(4) Closure property in multiplication
Which of the following is a prime number ?

(1) 263 (2) 361

(3) 323 (4) 324

Which one of the following is a prime number ?
(1) 161 (2) 221

(3) 373 (4) 437

Which of the following numbers is divisible by 47?
(1) 8675231 (2) 9843212

(3) 1234567 (4) 543123

What least number be assigned to * so that the
number 63576*2 is divisible by 8 ?

(1)1 (2) 2

(3)3 (4) 4

TEST CODE
2002

I B A1 AT T AR & g BT BHEl ol

(1) ol s (2) s
(3) uR¥g ww=m (4) arafas dw
BYF H TUIeH FfAd R B
(29 x 36) x 18 = 29 x (36 x 18)
(1) I @1 AEed s
(2) U 1 4 faf-aa e
(3) o 1 fdcRep a4
(4) O BT YT OTerH
o & 9 I 31T =T B P
(1) 263 (2) 361
(3) 323 (4) 324
. P e sy E E ?
(1) 161 (2) 221
(3) 373 (4) 437
. =1 1 9 e e 4 1 gof fawrfra gl g 2
(1) 8675231 (2) 9843212
(3) 1234567 (4) 543123
. * D ST 9T HE BN Ife A 63576+2,8 ¥ favfra
BRI g ?
(1) 1 () 2
(3) 3 ) 4

Space for rough work

2

E
“eRUTIE "’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500 A

y.




TEST CODE
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13. Number of integers lying between -1 and 1 is
(1)1 (2) 2
(3) 3 (4) 100

14.

15.

16.

17.

Number of whole number lying between — 5 and 5
is

(1) 10 2) 3

(3) 4 4) 5

In which of the following pairs of integers, the first
integer in not on the left of the other integer on the
number line ?

(1) =1, 10) (2) (3, -5)

(3) (=5, -3) (4) (=6, 0)

When a negative integer is subtract from another
negative integer, the sign of the result

(1) is always negative

(2) is always positive

(3) is never negative

(4) depends on the numerical value of the integers
A basketball team composed of 12 players scored
100 points in a particular contest. If none of the
individual player's scroed, fewer than 7 points.
What is the greater number of points that an
individual player might have scored

(1) 7 (2) 16

(3) 21 (4) 23

13.

14.

15.

16.

17.

CLASS - VI

ZONE - II
~1 3R 1 & A=y Yurtepl o) | grft
(1 (2) 2
3) 3 (4) 100
— 53R 5 & Heu Ui T8l @l el gl
(1) 10 2) 3
(3) 4 (4) 5
1 5§ | quifel &1 ®I4r g 2 e ugen orie g

quifes & 9T QMR =T NET OR AL} ATl B ?

(1) (-1, 10) (2) (=3, -5)

3) (5, -3) (4) (-6, 0)

9 fodl FomHS YUl DI 3T FOMHD YUl | Tl
T &, 1 gRoTH &7 forge g

(1) THRM FOTHD

(2) TH gATHD

(3) T N FeorHD T B

(4) TUTTo! & HEaTHS A TR R

U qrRebe 911 < H 12 Raenfeal 7 ufemifiar 4 100 sid
ifta ford, afe forsdy +f Rt =1 7 &f | o 3fap <ifdta =1gi
o3 1 Raetr< g1=1 @ifSta ford T oieh 1fdrarc fvaw 21 |t
2 |

(1) 7
(3) 21

2) 16
(4) 23

Space for rough work

3
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18.

19.

20.

21.

Tecno'23
If 11/4 = 77/%, then x = 18
(1) 28 (2) 77/28
(3) 44 (4) 308

Which of the following fractions is the greatest of 19.

all?7/8,6/7,4/5,5/6

(1)6/7 (2) 4/5
(3)5/6 “4)7/8
A fraction equivalent to 45/105 is 20.
(1) 6/14 (2) 4/7
(3)5/7 @ 7/5

S

of a pack of muffins . She gave the muffins equally

Maya made mulffins for his children. She made

to 5 children. How much of a pack of muffins will
each child get ?

1 3
1) 1o 2) 39
3 3
3) 55 *) 50

21.

TEST CODE
2002
Ak 11/4=77/x A x =
(1) 28 (2) 77/28
(3) 44 (4) 308

frefafRaa 7/8, 6/7, 4/5, 5/6 W 4 A 991 fa=1 &

(1)6/7 (2) 4/5
(3)5/6 4)7/8
45/105 &1 F9ged A= g
(1) 6/14 (2)4/7
(3)5/7 “4)7/5
AT = 31U g2l & forg J1fth= 9118 afe o % Ube ATfth~
TS | S99 S99 HIfh=g @1 5 d=al § gAY 9 dier
ISP 920 Bl fobed=1 Yo A1fth= ure g1 2
1 3
W 7o @) 30
3 3
3) 55 @ 50

Space for rough

work

4
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22. The place value of 5 in 0.04532 is
(1) 5 (2) 5/100
(3) 5/1000 (4) 5/10000
y-X
23. If 1.5x = 0.04y then value of v +x
730 73
(1) == (2) =
73 703
3) 770 ) 77

24. 15 litres and 15ml is equal to
(1) 15.15 litres
(2) 15.150 litres
(3) 15.0015 litres
(4) 15.015 litres
25. 2.5+ 3.05 - 4.005 is equal to
(1) 1.545
(2) 1.455
(3) 1.554
(4) 0.545

22.

23.

24.

25.

CLASS - VI

ZONE - 11

0.04532 # 5 &1 W 414 &

(1) 5 (2) 5/100
(3) 5/1000 (4) 5/10000
Af21.5x = 0.04y o zli @1 | BT
730 73
(1) o (2) 77
73 703
() 770 (4) o
15 oflex 3R 15 el arex ®

(1) 15.15 litres

(2) 15.150 litres

(3) 15.0015 litres

(4) 15.015 litres

2.5 + 3.05 — 4.005 SRTR &
(1) 1.545

(2) 1.455

(3) 1.554

(4) 0.545

Space for rough work

5

y.
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PART-B : MENTAL ABILITY TEST

TEST CODE
2002

26. If SYSTEM is coded as SYSMET and NEARER as 26. If¢ SYSTEM & SYSMET 3k NEARER &I AENRER

27.

28.

29.

AENRER, then FRACTION will be coded as
(1) CARFONT
(2) NOITFRAC
(3) FRACNOIT
(4) CARFNOIT

In a ceratin code, 253 means 'books are old', 546 27.

means 'man is old' and 378 means 'buy good books'.
What stands for 'are' in the code ?

(1) 4 (2) 5

(3) 6 “4) 2

P8 S 1 ST {191 § FRACTION &1 &R S8l STRTT—
(1) CARFONT

(2) NOITFRAC

(3) FRACNOIT

(4) CARFNOIT

fg e fAf¥erd war § 253 Aded 'books are old', 546
Aded 'man is old' 3R 378 #ded 'buy good books' ® |
Tl 'are' &1 ST IO F 7 37ef B2

(1) 4 (2) 5

(3) 6 ) 2

If the word 'LEADER' is coded as 20-13-9-12-13- 28. Ife 'LEADER' & 20-13-9-12-13-26 &8 W, dl

26, how would you write 'LIGHT'?
(1) 20-16-17-15-27
(2) 20-15-16-18-23
(3) 20-17-15-16-28
(4) 20-16-15-17-22

'LIGHT' &1 S 4191 H 91 Bl STRAT?
(1) 20-16-17-15-27
(2) 20-15-16-18-23
(3) 20-17-15-16-28
(4) 20-16-15-17-22

If GO = 32, SHE = 49, then SOME will be equal to 29. If& GO = 32, SHE = 49, 9l SOME @ a=Tex 81T :

(1) 56
(3) 62

(2) 58
(4) 64

(1) 56
(3) 62

(2) 58
(4) 64

Space for rough work

6
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30. Choose the venn diagram which best illustrates 30.
the three given classes in each questions
Animals, Men, Plants

O

M

(3)@ O

O

(4)

& ©

31. If x means +, + means +, — means x and + means 31.
—then8x7-8+40+2=7?
2
7z
(1)1 (2) 73
3
(@) 8% (4) 44

32. If Q means 'add to' , J means 'multiply by', T means 32.
'subtract from' and K means 'divide by',

then30K 2Q3J6TS5="7?

(1) 18 (2) 28

(3) 31 (4) 103

CLASS - VI

ZONE - 11

Ig I IR g i1 ydd we A fau Q¢ i a9t o wataH
wY ¥ AT |

7Y, gou, 1Y
O
(1) @ (2)
O O
(3) (4)

O

Ife x AT +, + AT +, — A x 3R + Aol —g, A1 8
x7-8+40+2="2

2
11 @) 7%
@) 8¢ (@) 44

IfE Q 1 Hd@d AN, J &1 Acierd oI, T Bl Adeld "Herd’
W30K 2Q3J6T5="
(1) 18
(3) 31

2) 28
(4) 103

Space for rough work

7

y.
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33.

34.

35.
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A series is given, with one term missing. Choose
the correct alternative from the given ones that will
complete the series

1,0,3,2,5,6,?,12,9, 20

(1)9 (2) 10

(3)7 (4) 8

Arun said, "This girl is the wife of the grandson of
my mother."” Who is Arun to the girl ?

(1) Father (2) Grandfather

(3) Husband (4) Father-in-law

Which of the answer figures is exactly the mirror
image of the given figure, when the mirror is held
on the line AB?

A
JUNE

B
(1) ENUL (2) a7UJ
(3) AnuL (4) ANUL

33.

34.

35.

TEST CODE
2002
TP e €1 T8 2, R v ug g B | e 7y fawedt | 9
I8 Wl fameu gAY S e o G- N |
1,0,3,2,5,6,?,12,9, 20
(1) 9 (2) 10
(3) 7 4) 8
31T 7 BEl, "UB ASDH! W 7 B Ui DY U B | ASD D
fore arevr B9 82
(1) foam (2) arat
(3) ufa (4) drett

T4 SUT T VT AB UR @1 A1 8, Al Bl I MPfal &1
TS | STPfeT 1 fAeqer sy wfafama 2 2

A
JUNE

B
(1) EVUL (2) @1UJ
(3) AnuUL (4) ANUL

Space for rough work

8
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CLASS - VI

ZONE - 11

Direction (Que. 36 and Que. 37) : Square transparent <3l (4. 36 TAT Y 37) : Ucd & H1Y AHR IR e

sheet with pattern is given. Figure out from
amongst the four alternatives as to how the pattern

would appear when the transparent sheet is folded

at the middle line shown.

L B | IR fadeul § & I yar oY b o9 yReet ofie &
e XGT OR AT ST & d Y b s <m |

36. Transparent sheet 36. UREY! A
| ]
g 11
Answer figures IR—F2r
=LA AN (NN =LA = 2N AN =LA
(1) (2) (3) 4 (1) (2) (3) 4
37. Transparent sheet 37. URE oA
Answer figures IR—f2rH
A A A
A_ A1 /lf pan|
(1) (2) 3) “4) (1) (2) 3) “4)
Space for rough work
y
CLC ‘e 1 . . . . . . "’/
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38. Amit walked 30 metres towards East, took a right 38.

39.

40.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

turns and walked 40 metres. Then he took a left
turn and walked 30 metres. In which direction is
he now from the starting point ?

(1) North-east (2) East

(3) South-east (4) South

A river flows west to east and on the way truns left
and goes in a semi-circle round a hillock, and then
turns left at right angles. In which direction is the
river finally flowing ?

(1) West (2) East

(3) North (4) South

Two positions of a dice are shown below. If digit 5
is kept at the top surface of the dice, then which
digit will come at its bottom surface?

° 13 o
2 4
I 1I
(1)1 (2) 2
(3) 3 4) 6

39.

40.

TEST CODE
2002

31fHT gd DI 3R 30 HIex =Ierd 8, 1 Jedl © 31R 40 IR
A & | bR 9% 919 Jea1 B 8iR 30 HIex =efdl ¢ | 98 31
Mo fdg & fore e # 22

(1) STR-gd (2)

(3) =faror-gd (4) =faror

Qe 7] Uf¥ed | gd @l 3R g8cil © 1R WK H a7¢ el 8 3%
U YIS & AR MR d—a< # Sl 2, 311R fh Fepior pivy
TR 9T Gl © | e AR fop fem 4 98 j81 8?2

(1) gf¥em (2) wd

(3) IR (4) sferor

TS g a1 |1 Reaferdt < ge1is 1% € | 9f o a1 Ul |z
TR 3P 5 X1 WY, T SHD A1l Bl HAg IR DI 7 37 JATTIT?

° 13 "2
2 4
I I
(1)1 (2) 2
(3) 3 4) 6

Space for rough work

10
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41. Motion of wheel of a bicycle is an example of : 41. Asfha o ufgd o1 7R fFdeT ISR 2

(1) Rolling motion (1) eAre=r Tfa

(2) Circular motion (2) g wfy

(3) Linear motion (3) &g 1fa

(4) Oscillatory motion (4) grer wfd
42. Marchpast of soldiers in a parade is an example of 42. W # VDI HT ATMIRE THHT ISTERT & :

(1) periodic motion (1) 3 wfey

(2) circular motion (2) g<iTPR fa

(3) rectilinear motion (3) e fey

43.

44,

45.

(4) vibratory motion

The shortest lenght between two points is called :
(1) Distance

(2) Speed

(3) Displacement

(4) Velocity

Smallest value of charge, which can tranfer :
(1) 1.6 x 1079 A

(2) 0.9 x 10718 C

3) 1.6 x 109 C

4) 0.9 x 1077 ¢C

1 micro Ampere is equal to :

(1) 107 Ampere

(2) 107'? Ampere

(3) 10° Ampere

(4) 107" Ampere

43.

44,

45.

(4) TeATHS Tf

3l fa53ll & 41 &) §ad B! TS BB ©
1)

(2) =ret

(3) farerro

(4) a7

I BT I BIST AT, ST IR 81 Fhd! 2
(1) 1.6 x 1077 A

(2) 0.9 x 1078 C

(3) 1.6 x 107 C

4) 0.9 x 107°¢C

1 AT TRIR aRTER 2 :

(1) 107 THIRR

(2) 10712 THiRR

(3) 107° THIRR

4) 107! THiRR

Space for rough work

11

‘I
‘“eRuTEl ' Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500 J\

y.




Y. CcLC

7/ Tecno'23
2 TALENT EXPLORING CLC
NATIONAL OLYMPIAD

46. Which part of the bulb produces light :
(1) Terminal
(2) Metal base
(3) Thick wires
(4) Fillament
47. Study the given flow chart :

It is a good
conductor
of electricity

It is a good
conductor
of heat

TEST CODE
2002
46. Fod HR BITA HIT YHT ST~ B 2 -
(1) R
(2) 9T T AR
(3) AT AR
(4) framie

47. o T AT JIRW BT 3eGIT BT

X
What is Z : ZEeg?
(1) clay spoon (2) copper spoon (1) el &l T =g (2) TY @ T
(3) steel spoon (4) iron spoon (3) It Bl T= (4) 91T o T

Space for rough work

12

y.
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48.

49.

50.

Speed of light is : 48.
(1) 9.1 x 10% m/sec

(3) 1.6 x 107'° m/sec

(2) 3.1 x 108 m/sec
(4) 3 x 10® m/sec

White light is composed of : 49,
(1) Eight colours (2) Seven colours
(3) Five colours (4) Colourless

Observe the picture given in figure. Sheet of some 50.
matrial is placed at position 'P' still the patch of
light is obtained on the screen what is the type of
matreial of sheet :

Source gz
of light

(1) transparent (2) translucent

(3) Opeque (4) Both (1) & (2)

CLASS - VI

ZONE - 11

YHT B ATA 2
(1) 9.1 x 10% m/sec
(3) 1.6 x 107'° m/sec

(2) 3.1 x 108 m/sec
(4) 3 x 10® m/sec

I UpTeT < a1 BT ©
(1) 3113 31 &1 (2) T I BT
(3) 9 T @ (4) TTEH

o T e 1 <Rav | fd) gl @9 e @1 P Ry uR <@
1A 2, R BPF TR U &1 gl U g 2 | 2 &
geref fhd YR &1 7

(1) areft
(3) 3

(2) URHTAT
(4) S (1) TT (2)

Space for rough work

13
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51.
52.
53.
54.

55.

56.

TEST CODE
Tecno'23 2002
Which one of the following is a synthetic fibre : 51. fr=faRaa # & o va QT%I'H WA
(1) Nylone (1) g
(2) Rayon (2) 3@
(3) Polyester (3) dfeligwex
(4) Nylon, Polyester & Rayone (4) AT, dfeliywex qur ¥af
Jute fiber are obtain from : 52. ST e U b S g
(1) Plant (2) Sheep (1) greg (2) ¥
(3) Silk moth (4) Plant root (3) XTH DI (4) UTEY ST
Generally we get cotton from cotton balls. They are 53. 3R UR &4 Bicd dict H dicd Aad g1 d & :
(1) Leaf (2) Stem (1) =it (2) T
(3) Fruits (4) Root (3) et (4) os

Which of the following fibres is used as a wick in
an oil lamp ?

(1) Cotton (2) Silk

(3) Wool (4) Nylon

Choose the opaque object from the following .
(1) Water (2) Glass

(3) Air (4) Iron plate

Name a non-metal that has lustre :

(1) Graphyte (2) Diamond

(3) Plastic (4) Sand

54.

55.

56.

fferRad & & fors X2 &1 SUUITT I & < | 91K & WY
Hfpa e ?

(1) P (2) XeH
(3) & (4) T
3RS I BT I PN

(1) Stet (2) @4

(3) arg (4) g wie
31ITq 1 A4 e a9 Bl €

(1) I®BIZS (2) 1

(3) wnfe® (4) et

Space for rough work
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57. Fill in the blanks
a. Mustard oil is ....... water
b. Sugaris...... in water

58.

59.

60.

c. Sugar syrupisa.......

(1) soluble , solution, imiscible

(2) imiscible, soluble , solution

(3) solution, imiscible, soluble

(4) imiscible, solution soluble

The process of separating grains from the stalks is

called :

(1) Handpicking

(2) threshing

(3) decantation

(4) evaparation

The process of separates the cotton fiber

from cotton seeds :

(1) Threshing

(2) Sieving

(3) Ginning

(4) Boilling

State whether the statements given below are the

true and false :

(a) Milk is a mixture.

(b) Common salt is a pure substance

(c) Element are pure substance

(d) Mixture has properties different from its
components ?

(1) TTTT

(3) TTTF

(2) TFTF
(4) TTFF

57.

58.

59.

60.

CLASS - VI

ZONE - 11

T DT Sl I 37T R b Ufehan gl 2

(1) T2 | g1
(2) AT
(3) \B1S
(4) aredrepRo
P YHAT, HUTT B I BT HUTH D 19 H 3T PR
T
(1) o
(2) B
(3) R
(4) ST
AR fop o ol T e T B A1 eI

(a) 58 U fAasor g
(b) SR TS b g garef B
(c) I & UcTed B

(d) fA571 & U1 IS TTH W A B B ?
(1) TTTT (2) TFTF
(3) TTTF (4) TTFF

Space for rough work
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Y. CcLC

¥

61.

62.

63.
64.
65.
66.
07.
68.
69.

70.

TEST CODE
Tecno'23 PART-E : BIOLOGY 2002
Material required for preparing a dish : 61. gHaE g4 & foTg naws Al §
(1) Nutrient (2) Substance (1) GI9® T (2) et
(3) Ingredients (4) Minerals (3) AR (4) @frt

Name two ingredients in our food that are not 62.

obtained from plants or animals.
(1) Ghee, Butter (2) Nectar, Seed

(3) Salt, water (4) Roughage, Sugar

How many types of bee are present in a beehive ? 63
(1) 2 (2) 3

(3) 4 (4) 5

The percentage of water in human body is : 64.
(1) 60 (2) 70

(3) 40 (4) 80

Foods like pizza, burger and noodles are rich in :
(1) carbohydrates (2) protiens

(3) vitamins (4) minerals

Mental disability in children is due to the lack of : 66.
(1) Iodine (2) Proteins
(3) Carbohydrates (4) Fat
The food components present in sugar is : 67.
(1) fats (2) proteins
(3) vitamins (4) carbohydrates

is a source of calcium : 68.
(1) Banana (2) Milk
(3) Apple (4) Fish
Which of the following is a stem ? 69.
(1) Turnip (2) Onion
(3) Radish (4) Carrot

Raw material for repgeneration of paper comes from 70.

(1) Animals
(3) Bacteria

(2) Trees
(4) Used paper

65.

BAR I A &1 U 3fard] & =119 2, S Ui a1 STl 4 urd
TET B

(1) €, FaE= (2) 3, 9
(3) H®, STet (4) XeJeraTE
. B4 H fae R &1 AgAfeRedi u1g 91§ ?
(1) 2 ) 3
(3) 4 4)5
AT IR F el BT ufaerd 2
(1) 60 (2) 70
(3) 40 (4) 80

fAoaT, TR IR T I Wiey ugred W9E 2 :

(1) Brdfergse (2) 9

(3) e (4) T

gt § AT e frda! HH & BRIl © ¢

(1) TS (2) U

(3) wrdiergse (4) a=n

ERIE KIS CREICURCLRE

(1) = (2) urdH

(3) faerfam (4) PrafEEST
DT HTATR

(1) @ (2) g

(3) W9 (4) 7ot

frafafea i AP U@ a e ?

(1) ereroT™ (2) @

(3) el (4) TSR

PITS B JIRcaTe & Y Hodl A1l A ATl 2

(1) g (2) Us

(3) Srary (4) WY DTS

Space for rough work
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Class - 6th

Paper Code : 2002

PART-A: PART-B : PART-C: PART-D: PART-E :

MATHEMATICS MAT PHYSICS CHEMISTRY BIOLOGY
Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans

1 4 26 4 41 1 51 4 61 3

2 1 27 4 42 3 52 1 62 3

3 1 28 3 43 3 53 3 63 2

4 1 29 1 44 3 54 1 64 1

5 1 30 1 45 3 55 4 65 1

6 1 31 2 46 4 56 2 66 1

7 1 32 2 47 2 57 2 67 4

8 1 33 3 48 4 58 2 68 2

9 1 34 4 49 2 59 3 69 2

10 3 35 3 50 4 60 3 70 2

11 2 36 1

12 3 37 1

13 1 38 3

14 4 39 2

15 2 40 2

16 4

17 4

18 1

19 4

20 1

21 3

22 3

23 2

24 4

25 1
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